Fall 2009 IPEDS Full-Time, First-Time		Graduated by En	d of Their	Not Graduated, But Returned in Beginning		Total Six Year		
Freshmen by Ethnicity and Sex		Sixth Year (Sum	Sixth Year (Summer 2015) Beginning of Their Seventh Year (Fall 2015)		/ear (Fall 2015)	Tracking Rate		
Fall 2009 Cohort	•	Base	N	%	N	%	N	%
African American	Female	182	61	33.5%	15	8.2%	76	41.8%
	Male	83	15	18.1%	8	9.6%	23	27.7%
	Total	265	76	28.7%	23	8.7%	99	37.4%
White	Female	25	13	52.0%	1	4.0%	14	56.0%
	Male	9	2	22.2%	2	22.2%	4	44.4%
	Total	34	15	44.1%	3	8.8%	18	52.9%
Asian/Pac Isl	Female	24	11	45.8%	1	4.2%	12	50.0%
	Male	17	8	47.1%	2	11.8%	10	58.8%
	Total	41	19	46.3%	3	7.3%	22	53.7%
Hispanic	Female	397	159	40.1%	35	8.8%	194	48.9%
	Male	229	73	31.9%	29	12.7%	102	44.5%
	Total	626	232	37.1%	64	10.2%	296	47.3%
American Indian	Female	2	0	0.0%	0	0.0%	0	0.0%
	Male	1	0	0.0%	0	0.0%		0.0%
	Total	3	0	0.0%	0	0.0%	0	0.0%
Two or more races	Female	29	8	27.6%	0	0.0%	8	27.6%
	Male	6	0	0.0%	1	16.7%	1	16.7%
	Total	35	8	22.9%	1	2.9%	9	25.7%
Unknown	Female	25	9	36.0%	1	4.0%	10	40.0%
	Male	9	3	33.3%	1	11.1%	4	44.4%
	Total	34	12	35.3%	2	5.9%	14	41.2%
Non-Resident Alien	Female	19	6	31.6%	3	15.8%	9	47.4%
	Male	13	3	23.1%	1	7.7%	4	30.8%
	Total	32	9	28.1%	4	12.5%	13	40.6%
	Total	1070	371	34.7%	100	9.3%	471	44.0%
			_					
Totals	Female	674	259	38.4%	56	8.3%	315	46.7%
	Male	361	104	28.8%	43	11.9%	147	40.7%
	Total	1070	371	34.7%	100	9.3%	471	44.0%

IPEDS Full-Time, First-Time Freshmen Cohorts, Six Year Graduation & Return Rates by Ethnicity and Sex

Fall 2008 IPEDS Full-Time, First-Time Freshmen by Ethnicity and Sex		Graduated by Er Sixth Year (Sum		Not Graduated, But Returned in Beginning Beginning of Their Seventh Year (Fall 2014)		Total Six Year Tracking Rate		
Fall 2008 Cohor		Base	N	%	N	%	N	%
African American	Female	223	56	25.1%	18	8.1%	74	33.2%
	Male	88	16	18.2%	8	9.1%	24	27.3%
	Total	311	72	23.2%	26	8.4%	98	31.5%
White	Female	24	13	54.2%	1	4.2%	14	58.3%
	Male	11	5	45.5%	0	0.0%	5	45.5%
	Total	35	18	51.4%	1	2.9%	19	54.3%
Asian/Pac Isl	Female	32	12	37.5%	4	12.5%	16	50.0%
	Male	25	3	12.0%	1	4.0%	4	16.0%
	Total	57	15	26.3%	5	8.8%	20	35.1%
Hispanic	Female	285	110	38.6%	28	9.8%	138	48.4%
	Male	153	50	32.7%	16	10.5%	66	43.1%
	Total	438	160	36.5%	44	10.0%	204	46.6%
American Indian	Female	0						
	Male	0						
	Total	0						
Unknown	Female	24	7	29.2%	5	20.8%	12	50.0%
	Male	14	5	35.7%	1	7.1%	6	42.9%
	Total	38	12	31.6%	6	15.8%	18	47.4%
Non-Resident Alien	Female	10	3	30.0%	1	10.0%	4	40.0%
	Male	10	6	60.0%	0	0.0%	6	60.0%
	Total	20	9	45.0%	1	5.0%	10	50.0%
	Total	899	286	31.8%	83	9.2%	369	41.0%
							<u> </u>	
Totals	Female	598	201	33.6%	57	9.5%	258	43.1%
	Male	301	85	28.2%	26	8.6%	111	36.9%

31.8%

286

Graduated by End of Their

Fall 2007 IPEDS Full-Time, First-Time
Freshmen by Ethnicity and Sex

Freshmen by Ethnicity and	Sixth Year (Su	mmer 2013)	
Fall 2007 Cohort	Base	N	%
African American Female	236	59	25.0%
Male	103	24	23.3%
CSUDH Institutional Research Total	339	83	24.5%

899

Total

Not Graduated, But Returned in Beginning
Beginning of Their Seventh Year (Fall 2013)

Degining of Their Seventin	Teal (Lali 2013)	
N	%	
20	8.5%	
10	8.5% 9.7%	
30	8.8%	L
•		

Total Six Year Tracking Rate

369

9.2%

N	%
79	33.5%
34	33.0%
113	33.3%

March, 2016

41.0%

White	Female	24	11	45.8%		0.0%	11	45.8%
	Male	14	4	28.6%	2	14.3%	6	42.9%
	Total	38	15	39.5%	2	5.3%	17	44.7%
Asian/Pac Isl	Female	21	7	33.3%	5	23.8%	12	57.1%
	Male	19	7	36.8%	1	5.3%	8	42.1%
	Total	40	14	35.0%	6	15.0%	20	50.0%
Hispanic	Female	285	92	32.3%	36	12.6%	128	44.9%
	Male	142	40	28.2%	20	14.1%	60	42.3%
	Total	427	132	30.9%	56	13.1%	188	44.0%
American Indian	Female	2	0	0.0%	0	0.0%	0	0.0%
American mulan	Male	0		0.0 %		0.0 %		0.0 /6
	Total	2	0	0.0%	0	0.0%	0	0.0%
					0			
Unknown		22	10	45.5%	1	4.5%	11	50.0%
	Male	17	5	29.4%	4	23.5%	9	52.9%
	Total	39	15	38.5%	5	12.8%	20	51.3%
Non-Resident Alien	Female	12	7	58.3%	0	0.0%	7	58.3%
	Male	16	2	12.5%	5	31.3%	7	43.8%
	Total	28	9	32.1%	5	17.9%	14	50.0%
	Total	913	268	29.4%	104	11.4%	372	40.7%
					1		1	
Totals	Female	602	186	30.9%	62	10.3%	248	41.2%
	Male	311	82	26.4%	42	13.5%	124	39.9%
	Total	913	268	29.4%	104	11.4%	372	40.7%

Fall 2006 IPEDS Full-Time, First-Time Freshmen by Ethnicity and Sex

Fall 2006 Cohort	Base	
African American	Female	272
	Male	82
	Total	354

Graduated	d by Ei	nd of Their
Sixth Yea	r (Sum	mer 2012)
	N.I.	0/

Olxul Toul (C	diffici Zo (Z)
N	%
68	25.0%
9	11.0%
77	21.8%

Not Graduated, But Returned in Beginning Beginning of Their Seventh Year (Fall 2012)

Dogiming of Their October	Tour (Full 2012)
N	%
18	6.6%
8	6.6% 9.8%
26	7.3%

Total Six Year Tracking Rate

%
31.6%
20.7%
29.1%

White	Female	26	11	42.3%	0	0.0%	11	42.3%
	Male	15	8	53.3%	0	0.0%	8	53.3%
	Total	41	19	46.3%	0	0.0%	19	46.3%
Asian/Pac Isl	Female	45	9	20.0%	6	13.3%	15	33.3%
	Male	13	5	38.5%	0	0.0%	5	38.5%
	Total	58	14	24.1%	6	10.3%	20	34.5%
Hispanic	Female	338	110	32.5%	31	9.2%	141	41.7%
Inopario	Male	143	41	28.7%	16	11.2%	57	39.9%
	Total	481	151	31.4%	47	9.8%	198	41.2%
		401	131	31.4 /0	47	9.070	190	41.2/0
American Indian	Female	2	1	50.0%	0	0.0%	1	50.0%
	Male	0						
	Total	2	1	50.0%	0	0.0%	1	50.0%
Unknown	Female	23	4	17.4%	3	13.0%	7	30.4%
	Male	13	4	30.8%	0	0.0%	4	30.8%
	Total	36	8	22.2%	3	8.3%	11	30.6%
Non-Resident Alien	Female	5	2	40.0%	1	20.0%	3	60.0%
	Male	0	0		0		0	
	Total	5	2	40.0%	1	20.0%	3	60.0%
	Total	977	272	27.8%	83	8.5%	355	36.3%
						3.070		
Totals	Female	711	205	28.8%	59	8.3%	264	37.1%
	Male	266	67	25.2%	24	9.0%	91	34.2%
	Total	977	272	27.8%	83	8.5%	355	36.3%

Fall 2005 IPEDS Full-Time, First-Time
Freshmen by Ethnicity and Sex

Fall 2005 Cohort	Base	
African American	Female	185
	Male	73
	Total	258

Sixth Year (Summer 2011)						
N	%					
35	18.9%					
9	12.3%					
44	17 1%					

	Not Graduated, But Returned in Beginning of Their Seventh Year (Fall 2011)					
L	N	%				
	16	8.6%				
	6	8.2%				
	22	8.5%				

Total	Six	Year
Track	ing	Rate

114011	ng rate	
N	%	
51	27.6%	
15	20.5%	
66	25.6%	

White	Female	17	8	47.1%	0	0.0%	8	47.1%
	Male	17	9	52.9%	1	5.9%	10	58.8%
	Total	34	17	50.0%	1	2.9%	18	52.9%
Asian/Pac Isl	Female	13	4	30.8%	1	7.7%	5	38.5%
7 10.00. 7 1 0.0	Male	21	5	23.8%	1	4.8%	6	28.6%
	Total	34	9	26.5%	2	5.9%	11	32.4%
Hispanic	Female	213	71	33.3%	36	16.9%	107	50.2%
- nopamo	Male	91	20	22.0%	13	14.3%	33	36.3%
	Total	304	91	29.9%	49	16.1%	140	46.1%
American Indian		0						
American mulan	Male	0						
	Total	0						
Unknown		35	8	22.9%	3	8.6%	11	31.4%
	Male	18	2	11.1%	3	16.7%	5	27.8%
	Total	53	10	18.9%	6	11.3%	16	30.2%
Non-Resident Alien	Female	13	1	7.7%	0	0.0%	1	7.7%
	Male	9	0	0.0%	0	0.0%	0	0.0%
	Total	22	1	4.5%	0	0.0%	1	4.5%
	Total	705	172	24.4%	80	11.3%	252	35.7%
Totals	Female	476	127	26.7%	56	11.8%	183	38.4%
	Male	229	45	19.7%	24	10.5%	69	30.1%
	Total	705	172	24.4%	80	11.3%	252	35.7%